
COMPRESSOR	 9285	 1
AIR TANK	 9124	 1
PRESSURE SWITCH	 9016	 1
DUAL AIR CONTROL PANEL	  	 1
30 FT. AIR LINE TUBING 	 9008	 2
25 FT. EXTENSION HOSE	 	 1
#10-32 x 1" MACHINE SCREW	 	 6
#10-32 LOCK NUT 	 	 6
#10 FLAT WASHER	 	 10
3/8" -16 1" HEX BOLT	 	 2
3/8" -16 FLNAGED HEX NUT	 	 2
3/8" FLAT WASHER	 	 2
5/16" FLAT WASHER	 	 2

COMPRESSOR T-FITTING	 	 1
PUSH-TO-CONNECT T-FITTING	 	 3
PUSH-TO-CONNECT MALE FITTING	 	 2
PUSH-TO-CONNECT 	

INFLATION VALVE	 	 1
NYLON TIE	 	 12
15 FT. 18 GAUGE WIRE	 	 1
15 FT. 16 GAUGE WIRE	 	 1
FEMALE TERMINAL	 	 4
RING TERMINAL	 	 2
WIRE CONNECTOR	 	 2
IN-LINE FUSE HOLDER	 	 1
20 AMP BLADE FUSE	 	 1

24-8289	 08-11	 NAD-33630-2

2168 / 2179 / 2244
2248 / 2261

Parts list

Step 1—Prepare the components

A) Compressor
Install the threaded end of the T-fitting into the compres-
sor head. Tighten the fitting sufficiently to engage the 
orange thread sealant. Next, install the pressure switch 
into the female end of the T-fitting. Install the female 
terminal connector from the compressor onto either 
spade on the pressure switch, see Figure “A”.

B) Air tank
Thread two (2) 1/4" NPT male push-to-connect fittings 
into the air ports on the air tank, see Figure “A”. Tighten 
the fittings securely to engage the orange thread sealant.

C) Gauge Panel
Cut two pieces of air line tubing 3-1/2" in length, making 
the cut as square as possible. Insert one end of each 
3-1/2" piece of air line into the hole marked IN on the 
back of the paddle switches, see Figure “C”. Insert 
the remaining ends of the 3-1/2" lengths of tubing into 
a push-to-connect T-fitting, see Figure “A”.

Step 2—Select a mounting location

A) Compressor attachment
Begin by removing the negative battery cable. Select 
a convenient location to mount the compressor. This 
location should provide ample air flow and be protected 
from airborne debris and moisture. The mounting sur-
face should be rigid to support the compressor, such as 
under the hood on a fender well or in a vented storage 
compartment. (Note: The compressor can be mounted 
in any orientation.)

Installation instructions
Congratulations on your purchase of a new Air Command 
kit. This kit was designed to provide inflation control of 
your air helper springs. This kit will be an asset to your 
vehicle, meeting your air supply needs.

Please take a few minutes to read through the 
instructions, identify the components, and learn how to 
properly install your Air Commnd kit. 

Note:
The Air Command kit can be used with most air helper 
spring products. If you are installing an air helper 
spring kit, do not install the air line tubing into the air 
springs as stated in the air helper spring manual. If 
you are adding the Air Command kit to an existing air 
helper spring system, you will need to deflate the air 
springs and remove the air line tubing.

Note on Connecting the air line tubing
Cut the air line tubing as square as possible. To con-
nect the air line tubing to the fittings, push the tubing 
into the fitting as far as possible. If for any reason the 
tubing must be removed, make sure the air helper 
springs are deflated, then push the collar of the fitting 
toward the body of the fitting and the tubing can be 
removed. To reassemble, make sure the tubing is cut 
square and push back into the fitting.

� ���

�� ���

�� ��

���

��� ���

���

����
��� ��� ���

Xtra Air Command™



2168
Figure “A”



Using the compressor as a template, mark and drill four 3/16" 
holes. Any burrs in the holes should be removed to prevent damage 
to the rubber isolators. Mount the compressor using the #10-32 x 1" 
machine screws, #10-32 lock nuts, and #10 washers supplied with the 
kit, see Figure “B”. Maximum vibration isolation can be achieved by 
properly mounting the compressor. The machine screw and nut should 
be tightened only enough to bottom-out the brass insert, see Figure 
“B”. DO NOT OVER-TIGHTEN. Over-tightening will crush the brass 
insert and the insulator, thereby reducing vibration isolation.

B) Air tank attachment
Select a location to mount the air tank. This should be in a protected 
location to prevent damage from rocks or airborne debris. Mark and 
drill two 7/16" holes 2-1/2" apart. Bolt the air tank in place using the 
3/8" -16 x 1-1/2" hex bolts with the 3/8" -16 flanged lock nuts and 
3/8" washers provided. Ensure that the installation allows unrestricted 
access to the air ports on the tank.

C) Gauge panel attachment
Select a mounting surface for the gauge panel under the dashboard 
of your vehicle or other protected location. Using the gauge panel as 
a template, center mark the mounting holes on the dashboard. Drill a 
3/16" hole on each center mark, see Figure “D”. Do not attach the 
panel to the dashboard at this time.

Step 3— Route the air line

A) Air tank and compressor to gauge panel
Cut a piece of air line tubing that will reach from the gauge panel 
mounting location to the air tank. Insert the end of the air line tubing 
into the T-fitting on the back of the gauge panel. Route the air line 
from the gauge panel to the air tank, see Figures “A” & “C”. It may 
be necessary to drill a hole in the fire wall to route the air line. Make 
sure that the air line tubing is protected from sharp edges. Insert the 
other end of the tubing into either push-to-connect fitting on the air 
tank. Secure the tubing to the vehicle with the provided Nylon ties. Do 
not fold or kink the air line tubing.

Cut a piece of air line tubing that will reach from the air tank to the 
compressor. Insert one end of the air line tubing into the brass T-fitting 
on the compressor. Route the tubing to the air tank, avoiding sharp 
edges and direct heat. Insert the other end of the air line tubing into 
the remaining push-to-connect fitting on the air tank, see Figure “A”. 
Secure the tubing to the vehicle with the provided Nylon ties.

B) Gauge panel to air springs
Cut two lengths of air line tubing that will reach from the gauge panel 
to each of the air helper springs. It may be necessary to drill a hole in 
the fire wall to allow the air line tubing to reach the rear of the vehicle. 
Ensure that the air line tubing is protected from sharp edges. Before 
installing the tubing to the gauge panel, soak one end of the tubing in 
hot water for a few minutes to soften the tubing. Slide the tubing onto 
the barbed fitting on the back of the gauge panel as far as possible. 
Do not use pliers to work the air line onto the barbed fitting, as the 
tubing may be damaged.

Install the other end of the air line tubing into the push-to-connect 
fitting on the air spring, see Figure “A”. Insert the tubing as far as 
possible into the fitting. Route the tubing to avoid sharp edges and 
direct heat from the exhaust system. Secure the tubing to the vehicle 
with the nylon ties provided.

Step 4—Install the manual inflation valve
Cut the air line tubing in a convenient location between the gauge panel 
and the air tank. Install a push-to-connect T-fitting between the gauge 
panel and the air tank, see Figure “A”. Select a location on the vehicle 
for the manual inflation valve. This location can be anywhere on the 
chassis of the vehicle, as long as it is in a protected location so the 
valve will not be damaged, but maintain accessibility for the air chuck. 
Drill a 5/16" hole and install the air inflation valve using two 5/16" flat 

Figure “C”

Figure “B”

��
�
�
�

��������������

������������

�������������

��������������������������

������������

����������
����

������
��������

������������

����������
����

������
��������

��
������������

��
������������

�������
���
��
	
�������

��
���������

��

��
�����������
�����
�����

LOCK NUTSWASHERS

MACHINE SREWS

CONTROL PANEL

BRACKET

WASHERS

Figure “D”

Figure “F”

AIR LINE

PUSH-TO-CONNECT
INFLATION VALVE

FLAT WASHER

HEX NUT
VALVE CAP

BODY OF
VEHICLE



washers per valve, see Figure “F”. Route the air line tubing from the 
T-fitting to the inflation valve. Avoid direct heat from the exhaust pipe 
and away from sharp edges. Secure the tubing with the provided nylon 
ties. Push the end of the air line tubing into the inflation valve as far as 
possible, see Figure “F”.
Step 5—Route the electrical wire
All necessary electrical wire and connectors have been included with 
this kit. Review the electrical schematic before beginning installation, 
see Figure “A”.

Crimp a blue ring terminal onto the end of the black lead from the 
compressor. Secure the ring terminal to a grounded component of 
the chassis.

Next, route a length of wire from the pressure switch to a positive 
12 volt, 20 amp, ignition activated power source on the vehicle. Cut a 
length of 16 gauge wire from the 6' length included with this kit. Crimp 
a blue female terminal connector onto the black lead from the com-
prssor. Install the female terminal connector over the remaining spade 
on the pressure switch. Connect the lead from the pressure switch to 
the 12 volt wire with a wire connector. Slide the wire connector over the 
existing wire and insert the un-stripped lead from the pressure switch 
into the wire connector. Close the wire connector over both wires with 
pliers, see Figure “G”.

Next, install the in-line fuse holder in the positive pressure switch 
lead. Cut the pressure switch lead near the wire connector and insert 
the un-stripped ends of the wire into the fuse holder. Close the fuse 
holder over the wires with pliers and install the fuse, see Figure “H”.

Step 6— Wire the gauge panel for illumination
From the 15' length of 18 gauge wire, cut a length that will reach from 
the gauge panel to a dashboard illumination wire. This will allow the 
gauge panel light to be activated with the dashboard lights. Strip one 
end of the wire 1/4" and crimp a red female terminal connector onto 
the wire. Slip the female connector onto either spade on the back of the 
gauge, see Figure "I". Attach the other end of the wire to a dashboard 
illumination wire using a wire connector. Slip the wire connector over 
the existing dashboard wire and insert the un-stripped gauge panel 
wire into the wire connector. Close the wire connector over the wires 
with pliers, see Figure “G”. Route a length of 18 gauge wire from the 
gauge panel to a suitable ground source. Strip both ends of the ground 
wire and crimp a red female terminal connector on one end and a red 
ring terminal on the other end. Slip the female terminal connector over 
the remaining spade on the back of the gauge and secure the ring 
terminal to the ground source, see Figure “I”.

Step 7—Attach the gauge panel to the dashboard
Install the gauge panel on the dashboard where the holes were drilled in Step 2C. Attach the gauge panel to the dash-
board or other mounting surface using the enclosed #10-32 x 1" machine screws, #10-32 lock nuts, and #10 washers, 
see Figure “D”.

Step 8 —Test the system
With the Air Command kit and air helper springs installed, you are ready to test the system. Re-attach the negative battery 
cable. Turn on the ignition. The compressor will start and build pressure in the system. Push the paddle switch upward 
to inflate the air springs. The gauge will display how much air pressure is in the air springs. Inflate the air helper springs 
to 70 P.S.I. and check the fittings for air leaks with an applied solution of soap and water. If a leak is detected at a tubing 
connection, check to make sure that the tube is cut as square as possible and that it is pushed completely into the fitting. 
The tubing can easily be removed from the fitting by first releasing the pressure from the air spring, then by pushing the 
collar towards the body of the fitting and then pulling out the air line tubing.

System operation
The Air Command kit allows the air springs to be inflated from the inside of the vehicle. Push the paddle switch up to 
inflate the air springs and down to deflate the air springs.

If the air compressor fails to operate for any reason, air can be introduced into the system by using the manual 
inflation valve installed with the Air Command kit. This can be accomplished by inflating the system through the manual 
inflation valve.

FUSE HOLDER

Figure “G”

Figure “I”

GROUND W
IRE

TERMINAL

CONNECTOR

BACK OF
GAUGE

RING

CONNECTOR TERMINAL

CONNECTOR

POSITIVE W
IRE

EXISTINGWIRE

CONNECTING WIRE

PLASTIC

CONNECTOR

Figure “H”

www.ride-rite.com



Do Not Return This Product  
to the Dealer or Distributor

If you are
•	 missing parts,
•	 experiencing installation problems, or
•	 have technical concerns regarding this product, 

you may contact a Firestone Technical Service Representative at rrtech@fsip.com or at 800-888-0650 (option 1, and 
then option 2). Representatives are available from 7:30 a.m. – 4:30 p.m. Eastern on Monday – Friday, excluding holidays. 
If you are located outside of the United States, you should first contact your distributor or dealer directly with any issues.

When contacting Technical Service, please have the kit or part # ready, along with the make, model, and year of the vehicle. 
You may also need to provide details, such as 2WD/4WD or if the vehicle has been lifted or lowered from stock height.

If you have a warranty concern, please include in your email a detailed description of the situation, a photo(s) of the 
issue, and your contact information, including ship-to address. 

WARRANTY COVERAGE*— The Ride-Rite™ kits, components, and accessories are warranted against defects in 
workmanship and materials. This warranty does not cover service or labor charges, neglect…to the product.

PERIOD OF COVERAGE:
•  Ride-Rite air springs – Lifetime Limited	 •  Work-Rite load assists – 2 Years Limited
•  Sport-Rite air springs – Lifetime Limited	 •  Air-Rite accessories – 2 Years Limited
•  Coil-Rite air springs – Lifetime Limited	 •  Brackets, hardware, fittings, air line, and other
•  Level-Rite air springs – Lifetime Limited	    components – 2 Years Limited

HOW TO MAKE A WARRANTY CLAIM — If you purchased your air springs in the U.S. or Canada and believe 
you have a part with a warrantable defect, call Firestone directly at 1-800-888-0650.

International customers should contact their distributors or dealers directly with any problems.

(*) Please refer to the “Firestone Limited Lifetime Air Spring Warranty” for details, terns, and conditions.

21-8387	 01-13	 NAD-37143-1



FI
R

E
S

T
O

N
E
 L

IM
IT

E
D

 L
IF

E
T
IM

E
 A

IR
 S

P
R

IN
G

 W
A

R
R

A
N

T
Y

Fi
re

st
on

e 
In

du
st

ri
al

 P
ro

du
ct

s 
C
om

pa
ny

 L
LC

 (
“F

ir
es

to
ne

”)
 w

ar
ra

nt
s 

th
at

 it
s 

R
id

e 
R
it
e 

A
ir
 S

pr
in

g 
A
ss

em
bl

y 
w

ill
 p

er
fo

rm
 

ac
co

rd
in

g 
to

 t
he

 m
an

uf
ac

tu
re

r’
s 

sp
ec

ifi
ca

ti
on

s 
fo

r 
as

 lo
ng

 a
s 

th
e 

ve
hi

cl
e 

on
 w

hi
ch

 t
he

 s
ys

te
m

 w
as

 o
ri
gi

na
lly

 in
st

al
le

d 
is

 o
w

ne
d 

by
 t

he
 o

ri
gi

na
l r

et
ai

l p
ur

ch
as

er
. 

 T
hi

s 
lim

it
ed

 w
ar

ra
nt

y 
do

es
 n

ot
 in

cl
ud

e 
in

st
al

la
ti
on

 o
r 

ot
he

r 
se

rv
ic

e 
ch

ar
ge

s 
fo

r 
re

pl
ac

em
en

t.
  

W
ar

ra
nt

y 
Pe

ri
od

Th
e 

A
ir
 S

pr
in

g 
is

 w
ar

ra
nt

ed
 f

or
 a

s 
lo

ng
 a

s 
th

e 
or

ig
in

al
 p

ur
ch

as
er

 o
w

ns
 t

he
 v

eh
ic

le
 o

n 
w

hi
ch

 it
 w

as
 o

ri
gi

na
lly

 
in

st
al

le
d.

  
Th

e 
fa

st
en

er
s 

an
d 

up
pe

r 
an

d 
lo

w
er

 b
ra

ck
et

s 
w

hi
ch

 a
cc

om
pa

ny
 t

he
 a

ir
 s

pr
in

g 
ar

e 
w

ar
ra

nt
ed

 f
or

 a
 p

er
io

d 
of

 t
w

en
ty

-f
ou

r 
(2

4)
 m

on
th

s 
or

 2
4,

00
0 

m
ile

s 
w

hi
ch

ev
er

 o
cc

ur
s 

fir
st

. 
 T

hi
s 

w
ar

ra
nt

y 
be

gi
ns

 o
n 

th
e 

or
ig

in
al

 r
et

ai
l 

de
liv

er
y 

da
te

. 
  

W
ha

t 
 is

  
C
ov

er
ed

A
ny

 im
pl

ie
d 

w
ar

ra
nt

ie
s 

ar
e 

lim
it
ed

 in
 d

ur
at

io
n 

to
 t

he
 c

ov
er

ag
e 

pe
ri
od

 o
f 
th

is
 w

ar
ra

nt
y 

(s
om

e 
st

at
es

 d
o 

no
t 

al
lo

w
 

lim
it
at

io
n 

on
 h

ow
 lo

ng
 a

n 
im

pl
ie

d 
w

ar
ra

nt
y 

la
st

s 
so

 t
he

 a
bo

ve
 li

m
it
at

io
n 

m
ay

 n
ot

 a
pp

ly
 t

o 
yo

u)
. 

 T
hi

s 
W

ar
ra

nt
y 

ru
ns

 
in

 f
av

or
 o

f 
th

e 
or

ig
in

al
 r

et
ai

l p
ur

ch
as

er
 w

he
n 

th
e 

R
id

e 
R
it
e 

A
ir
 S

pr
in

g 
A
ss

em
bl

y 
is

 u
se

d 
un

de
r 

no
rm

al
 o

pe
ra

ti
ng

 
co

nd
it
io

ns
 a

cc
or

di
ng

 t
o 

Fi
re

st
on

e’
s 

sp
ec

ifi
ca

ti
on

s 
an

d 
in

st
al

le
d 

on
 t

he
 a

pp
ro

pr
ia

te
 a

pp
lic

at
io

n.
  

Th
is

 w
ar

ra
nt

y 
do

es
 n

ot
 

ap
pl

y 
to

 R
id

e 
R
it
e 

A
ir
 S

pr
in

g 
A
ss

em
bl

ie
s 

th
at

 h
av

e 
be

en
 im

pr
op

er
ly

 a
pp

lie
d,

 im
pr

op
er

ly
 in

st
al

le
d,

 u
se

d 
in

 r
ac

in
g 

or
 o

ff
 

ro
ad

 a
pp

lic
at

io
ns

 o
r 

us
ed

 f
or

 c
om

m
er

ci
al

 p
ur

po
se

s.
  

In
 a

dd
it
io

n,
 t

he
 w

ar
ra

nt
y 

w
ill

 n
ot

 a
pp

ly
 t

o 
pr

od
uc

ts
 w

hi
ch

 h
av

e 
no

t 
be

en
 m

ai
nt

ai
ne

d 
an

d 
se

rv
ic

ed
 a

cc
or

di
ng

 t
o 

th
e 

in
st

ru
ct

io
ns

 t
ha

t 
ac

co
m

pa
ny

 t
he

 a
ir
 s

pr
in

g 
as

se
m

bl
y.

  
Th

e 
co

ns
um

er
 w

ill
 b

e 
re

sp
on

si
bl

e 
fo

r 
an

y 
co

st
s 

in
cu

rr
ed

 in
 r

em
ov

in
g 

th
e 

pr
od

uc
t 

fr
om

 t
he

 v
eh

ic
le

 a
nd

 t
he

 c
os

t 
to

 r
et

ur
n 

th
e 

ai
r 

sp
ri
ng

 a
ss

em
bl

y 
to

 t
he

 d
ea

le
r 

or
 in

st
al

le
r 

fr
om

 w
hi

ch
 it

 w
as

 p
ur

ch
as

ed
. 

 I
f 

it
 is

 d
et

er
m

in
ed

 t
ha

t 
th

e 
R
id

e 
R
it
e 

A
ir
 S

pr
in

g 
A
ss

em
bl

y 
fa

ile
d 

as
 a

 r
es

ul
t 

of
 a

 m
an

uf
ac

tu
ri
ng

 d
ef

ec
t,

 F
ir
es

to
ne

 w
ill

 r
ep

ai
r 

or
 r

ep
la

ce
, 

at
 it

s 
op

ti
on

, 
an

y 
pr

od
uc

t 
or

 c
om

po
ne

nt
s 

su
bj

ec
t 

to
 t

hi
s 

w
ar

ra
nt

y.
  

 Y
ou

 s
ho

ul
d 

re
ta

in
 a

 c
op

y 
of

 y
ou

r 
co

nt
ra

ct
 w

it
h 

yo
ur

 in
st

al
le

r 
an

d 
yo

ur
 r

ec
ei

pt
 a

s 
pr

oo
f 
of

 t
he

 d
at

e 
of

 in
st

al
la

ti
on

. 
Th

is
 w

ar
ra

nt
y 

is
 n

on
-t

ra
ns

fe
ra

bl
e 

an
d 

is
 n

ot
 a

ss
ig

na
bl

e 
in

 a
ny

 w
ay

.

Fi
re

st
o

n
e
 s

p
e
ci

fi
ca

ll
y 

e
x
cl

u
d

e
s 

a
n

y 
o

b
li
g

a
ti

o
n

 f
o

r 
co

n
se

q
u

e
n

ti
a
l 
d

a
m

a
g

e
s 

o
r 

in
ci

d
e
n

ta
l 
e
x
p

e
n

se
s 

in
cl

u
d

in
g

 c
la

im
s 

fo
r 

lo
ss

 o
f 

u
se

 o
f 

th
e
 p

ro
d

u
ct

, 
lo

ss
 o

f 
ti

m
e
, 

in
co

n
ve

n
ie

n
ce

, 
o

r 
co

m
m

e
rc

ia
l 
lo

ss
. 

T
h

is
 w

a
rr

a
n

ty
 g

iv
e
s 

yo
u

 s
p

e
ci

fi
c 

le
g

a
l 
ri

g
h

ts
. 

 Y
o

u
 m

a
y 

a
ls

o
 h

a
ve

 o
th

e
r 

ri
g

h
ts

 t
h

a
t 

m
a
y 

va
ry

 f
ro

m
 s

ta
te

-t
o

-s
ta

te
. 

 S
o

m
e
 s

ta
te

s 
d

o
 n

o
t 

a
ll
o

w
 l
im

it
a
ti

o
n

s 
o

n
 h

o
w

 l
o

n
g

 a
n

 i
m

p
li
e
d

 w
a
rr

a
n

ty
 l
a
st

s 
o

r 
a
ll
o

w
 t

h
e
 

e
x
cl

u
si

o
n

 o
r 

li
m

it
a
ti

o
n

 o
f 

in
ci

d
e
n

ta
l 
o

r 
co

n
se

q
u

e
n

ti
a
l 
d

a
m

a
g

e
s.

  
T
h

e
 a

b
o

ve
 l
im

it
a
ti

o
n

 o
r 

e
x
cl

u
si

o
n

 m
a
y 

n
o

t 
a
p

p
ly

 t
o

 y
o

u
. 

 T
h

e
re

 a
re

 
n

o
 w

a
rr

a
n

ti
e
s,

 e
x
p

re
ss

 o
r 

im
p

li
e
d

, 
in

cl
u

d
in

g
 i
m

p
li
e
d

 w
a
rr

a
n

ty
 o

f 
m

e
rc

h
a
n

ta
b

il
it

y 
a
n

d
 f

it
n

e
ss

 w
h

ic
h

 e
x
te

n
d

 b
e
yo

n
d

 t
h

is
 w

a
rr

a
n

ty
. 

   


